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INSTRUCTIONS
Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 32 pages including this front page. Verify the Page Nos. and Test Booklet
series on each page and bring at once-to the Invigilator’s notice any discrepancy. E '
L
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Answers will have to be given in the Special Answer-Sheets supplied for the purpose.

3. Before you proceed to mark in the Answer-Sheet in response to various items in the Test Booklet,
you have to’fill in some particulars in the Answer-Sheet as per instructions sent to you in the
Admit Card. Do not fold the Answer-Sheet as this will result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers
(A), (B), (C) and (D) against each question. Find out which of the four answers appears to you
to be correct or the best. Now darken the circle corresponding to the letter of the selected answer
in the Answer-Sheet with Black Ball Point Pen as per instructions printed on the reverse of the
Admit Card and in the Answer-Sheet.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer.

6. There will be negative marking of % mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The Special Answer-Sheet should be handed over to the Invigilator before leaving the Examination
Hall. You are permitted to take away the used Test Booklet after completion of the examination.
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1. ABCD is a cyclic quadrilateral and the
sides DC and AB, are produced to meet at P.
If ZAPD = 25°and ZPBC = 70° then £ZBAD is
equal to

(A) 25°
(B) 70°
(©) 95°
(D) 85°
2. A man invests Rs. 5000 at a rate of 6% per

annum. How much more should he invest at a rate
0f 9%, so that he can earn a total of 7% per annum?

(A) Rs. 5000

(B) Rs. 2500

(C) Rs. 3000

(D) Rs. 4500
3. A conical container of base diameter 2R
and height H is full of water which is poured into

a cylindrical container of diameter 2pR, then it
will occupy a height equal to

(A) 3p°H
B) 7

© PH

®

4, IfP(L2), O(4,6), R(5,7) and S(a, b) are the
vertices of a parallelogram PORS, then the values
of z and b are

(A) a=2,b=6

B a=1,b=5

(€) g=2,86=3

D) a=6,b=7
5. Sneha wants to buy a furniture worth
Rs. 12,500, she gets a discount of 10% on it. After

getting the discount, she pays 18% GST. Find the
amount she will have to pay for the furniture.

(A) Rs. 12,540
(B) Rs. 13,125
(C) Rs. 13,275
(D) Rs. 14,250

C-2

6. Two circles with radii r; and ry
respectively, touch each other externally.
Let R be the radius of a circle that touches these
two circles as well as a common tangent to the two
circles, which of the following is true?

7. Ifthe rate of compound interest for the first
year is 4% and second year is 5%, then the
compound interest on Rs. 25,000 for 2 years is

(A) Rs. 2000
(B) Rs. 2300
(C) Rs. 2400
(D) Rs. 2500

8. Ifx=by+cz y=cz+axandz=ax+by,then
a b

e
Ttz 1=p T 1sc isequalto

(A) O
B) 1

©) =

abe
(D) abe

9. Rahul's salary is firstincreased by 10% and
then again by 20%. But due to covid the salary is
decreased by 25%. By what per cent the initial
salary changes?

(A) 1% increased
{B) 1% decreased
(C) 2% increased
(D) 2% decreased
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10. The price of coal being increased by 20%,
family reduce the consumption of coal by 20%.
Thenhow much per cent will the family’sexpenses
for coal be increased or decreased?

(A) Nochange

(B) 4% increased
(C) 4% decreased
(D) 3% decreased

11. A sum of money lent by Jadu at simple
interest becomes double of itself in 8 years. Then
the sum will, triple itself in

(A) 16 years
(B) 15 years
(C) 20 years
(D) 24 years

12. In an election 15% of voters did not vote.
Ratanbabu got 62.5% of votes cast was declared
clected by 3400 votes. Then the total number of
votes are

(A) 15000
(B) 16000
(C) 17000
(D) 19000

13. If the first and second of the five numbers
in continued proportion are 2 and 8 respectively,
then the fifth number is

(A) 512
(B) 16
(C) 64
(D) 256

14. If o>+ b%+ c*=ab + be + ca, then which one
is correct?

(A) a+b+c=0

B) a=b=c

©) a-b-c=0

(D) None of the above

ABC(C)-10/20

15, A bus travels from Kolkata to Digha at
the rate of 55 km/hour and returns at the rate of
66 km/hour. Then the average rate of the whole
journey is

(A) 50 km/hour
(B) 55 km/hour
(C) 60 km/hour
(D) 72 km/hour

16. The marked price of a pen is Rs. 200 and a
customer buy it for Rs. 153 after two successive
discounts. If first is 10%, then the second is

(A) 20%
(B) 18%
(C) 10%
(D) 15%

17. A man gets a simple interest of Rs. 3500 on
a certain principal at the rate of 10% per annum in
5 years. What compound interest will the man get
on twice the principal in two years at the same rate?

{A) Rs. 2520
(B) Rs. 1750
(C) Rs.2100
(D) Rs. 2940

18. Inatriangle POR, points A, B and C are the
mid points of the sides PQ, OR and RPrespectively.
If the area of the triangle ABC is 16 sq.units, then
the area of the triangle POR is

(A) 32 sq.unit
(B) 48 sq.unit
(C) 50 sq.unit
(D) None of the above

19. A man buys milk at Rs. 60 per litre, adds
water to it and then sells it at Rs. 50 per litre.
What is the ratio of milk and water if his profit in
the deal is 20%?

(A) 5:9

(B) 25: 11
(€) 16: 19
(D) 13:16
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20. A manufacturer marked an article at
Rs. 120 and sold it allowing 15% discount. If his

is
{A) Rs. 85
(B) Rs. 90
(C) Rs. 100
(D) Rs. 110

21. If a sum of money doubles itself at
compound interestin 12 years. In how many years
will it become four times?

(A) 26 years
(B) 24 years
(C) 20 years
(D) 18 years

22. Successive discounts of x% and y% are
equivalent to a single discount of

(A) (x+v)%

(B} x:i%

(© (x+}’—i—0-o)%

D) x;y%

23, A merchant purchases 11 toys for Rs.10
and sold 10 toys for Rs. 11. His profit is

(A) 15%
(B) 20%
©) 21%
(D) 25%

24. Three solid spheres of gold whose radii are

1 cm, 6 cm and 8 cm respectively are melted into
a single solid sphere. Then the radius of the snhere
is

(A) 7cm

(B) 8cm

(C) 9cm

(D) 10cm

profit was 20%, then the prime cost of the article

25. The income of Priya is 40% higher than
that of Liza and the income of Disha is 20% less
than that of Liza. Income of Priya is higher than
income of Disha by

(A) 25%
(B) 75%
(C) 100%
(D) None of the above

26. If the cost price of 12 articles is equal to
selling price of 10 articles, then percentage of
profit is

(A) 25%
(B) 30%
() 22.5%
(D) 20%

27. Aman travels three-fifth of a distance AB at
a speed 3x and the remaining at a speed 2y. If he
goes from B to A and returns at a speed 5z in the
same time, then which one is correct?
L. )
Wl Rt
B) *
-
Gy 3
(D) x+

1
y z
+y=2
pd 2
y z
&=y

28. Iftan 20 tan 6 = 1, then the value of tan 20
is
(A) 1

1
B) 7
© 3
(D) None of the above

29. A and B can do a piece of work in 10 days,
B and Cin 12 days, C and A in 15 days, then that
numbers of days taken by A, B and C together to
finish the work are

(A) 6days
(B) 8 days
(C) 10 days
(D) 18 days
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Sgnd i 35. The income from a bus in every trip is
30. If x=5+2V6 , then === isequal to | Rs. 100. If the bus fare increases by 50% and the

x number of passengers decreases by 20%, then the
A) 3 income in every trip is
(B) 864 (A) Rs. 120
(©) 973 (B) Rs. 80
(D) 874 (C) Rs. 130
(D) Rs. 110

31. The difference between simple interest and
compound interest on a sum for 3 years at 10%
when the interest is compounded annualy is

36. Themean of afrequency distributionis 8.1,
if 2f;x;=132 +5k and Zf;=20 then the value of &

Rs. 155. Then the principal value is is
(A) Rs. 4000 (A) 2
(B) Rs. 5000 (B) 4
(C) Rs. 5500 € 3
(D) Rs. 6000 D) 6

37. Pipe A can fill a tank in 3 hours and pipe

32. Atrain travels at a speed of 30 km/hour for | B can fill it in 4 hours. If they are opened at
12 minutes and then for the next § minutes at a | alternate hoursandif pipe A is opened first, in how

speed of 45 b:rl‘hour, then the average speed for | many hours will the tank filled?

the journey i (A) 3?} hours
A) :6 km/hour
B) 39 km/hour B b
(C) 20 kmvhour (C) 4% hours '
D) 42 km/hour 1 '
(D) 35 hours
33. The compound interest on Rs. 10,000 in 38. The cost price of an article A is Rs. 200 and
1 ) selling price of another article B is Rs. 308. If the
25 years at 10% per annum is selling price of A will be equal to the cost price of
(A) Rs. 2010 B, then .the profit after selling A is 10%. What is
the profit on B?
(B) Rs. 2250 (A) 20%
(C) Rs. 2705 (B) 30%
(D) 50%

1 2 1
34, If — i 3 5 Ty 0(?3_?_ = =1, then 39. Gold and Copper are heavier than water by
- ¥ 19 and 9 times respectively. In what proportion
i T Tty 1009 o is equal to should tl.1ey be mixed to form an alloy so that it will
_ be heavier than water by 15 times?

(A)0 (A) 1:2

B) 1 B) 2:3

©) 2 (€) 3:4

D) 3 D) 3:2
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40. The price of sugarcane rises by 20%. Then
by how much per cent does a housewife reduce her
consurmption so thather expenditure remains same?

@) 162%
(B) 20%
(C) 25%
®) 125%

41. Ifthe semiperimterof aright-angled triangle
be s cm and hypotenuse be ¢ cm, then the area of
the triangle is

5
(A) o sgem
(B) scsq.cm
(C) s(s-c)sq.cm
(D) None of the above

42. If the time taken to go from one station to
other is required to be decreased by 20% then by
what per cent the speed of the train will have to be
increased?

(A) 20%
(B) 25%
©) 15%
D) 12%

PP 5 3
43, If 2x=a+ Ay —4 and 2y=a- el .
3a 3a

then which one is correct?
(A) x+y=a
®) £+y=p
©) P+y'=d’
(D) None of the above

1

44. If (x + ;)2 = 3, then the value of

x2020 4 (2021 4 (2022 4 2014 4 2015 2018 4 1 s

A0
B) 1
(C) 2020
(D) 2016

A R i e et R

T e D

C-6

?

45. 76 ladies can do a job in 33 days. Due to
some reason, some ladies did not join the work and
therefore, it wascompleted in 44 days. The number
of ladies who did not join the work is

(A) 22
(B) 21
(© 20
o) 19

46. The speed of a boat in still water is
8 km/hour. If it can travel 20 km downstream and
12 km upstream at the same time, the speed of the
stream is

(A) 2 km/hour
(B) 2.5 km/hour
{C) 3 km/hour
(D) 3.5 km/hour

47. Iftan 8 +sin0=mand tan 0 —sin © =7, then
which one is correct?

(A) m*+n*=2Jmn
®) m?-n?=d4mn
©) m?-n*=4Jmn
D) m?=n*=2Jmn

48. Six years hence, a man’s age will be three
times the age of his son and three years ago he was
nine times as old as his son. The present age of the
man is

(A) 28 yrs
(B) 30 yrs
(C) 32 yrs
(D) 34 yrs

49, Mohit went to a shop to buy 50 kg of rice,
He buys two varieties of rice which cost him
Rs. 4.50 per kg and Rs. 5 per kg. He spends a total
of Rs. 240. What was the quantity of less
expensive rice bought by him?

(A) 20kg
(B) 25kg
(C) 30kg
(D) 35kg
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50. The radius and height of a cone are each
increased by 10%, then the volume of the cone is

ABC(C)-10/20

55, The production of scooters rose to 48400
from 40000. If rate of growth is 10%, then the

increased by time required
(A) 21% (A) 3 years
(B) 33.1% (B) 4 years
(C) 25.3% (C) 3 years
(D) 30.4% (D) 2 years

P

51. Avishek sells a book at a profit of 20%. If
he had bought it at 20% less and sold it for Rs. 18
less, he would have gained 25%. The cost price of

56. Satyajitis younger than Diganta by § years.
If their ages are in the ratio of 5 : 7, then how old
is Satyajit?

the book is il Toyears

(A) Rs. 80 (E) ii yEars

(B) Rs.70 © i FER

(C) Rs. 60 () 20 yeass

D) B0 §7. fa+b+c=0, then

i + 1 + l is equal to
52. RohitsoldtwobooksatRs. 60 each. Onone Prr el x4+ PrxP4l e

he gains 20% and on the other loses 20%.Then he
made (A) abc

(A) no profit no loss (B) abc

C) gain of 1%

©) g o D) 1

(D) loss of 1%

58. Presentages of Ram and Laxman are in the
ratio of 5 : 4 respectively. Three years hence, the

53. If o and B be the roots of the quadratic ; . . ;
ratio of their ages will become 11 : 9 respectively.

equation ax®> + 2bx + c=0and . + v, P+ be

those of Ax” + 2Bx + C = 0, then which one is What is Laxman’s present age? AR =5L
correct? (A) 24 years ;
(A) AXB?-AC) = d*(b*- ac) (B) 27 years g
(B) A%b? - ac) =d*(B* - AC) (C) 40 years ! |
(C) b¥A%- BC) = Bd® - bc) (D) 30 years

(D) B*A’-BC)=b*a*-bc) !

: 59. 8 men or 12 women can do a piece of work
in20 days. The number of days needed to complete
the job, if 10 men and 15 women are employed to
do the same piece of work is

54, If a = 2021, b = 2022, ¢ = 2023, then the
value of & + b° + ¢ — 3abe is

(A) 18198 (A) 10
(B) 20158 (B) 15
(C) 19288 ©) 8
(D) 19188 (D) 20
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60. A sum of money compounded annually
becomes Rs. 500 in two years and Rs. 550 in three
years. The rate of interest per annum is

(A) 8%
(B) 10%
(€) 12%
(D) 15%

x+4b

+4
61. If x=29  then —x—'?-*-x_% isequal t0

a+b’ x—4a
(A) 1
B) 2
(C) Bab
(D) 4ab

62, IfH, S, Vbe the height, curved surface area
and volume of a cone respectively, then the value
of 3nVH? + 9V2 - S?H? is

(A) 0
®B) 1
(C) =

(D)

win

63. Amal invests % of his capital at 8% p.a., %

at 10% p.a. and the remainder at 7% p.a. If his
annual income is Rs. 628, then the capital is

(A) Rs. 7500

(B) Rs. 7700

(C) Rs. 8000

(D) Rs. 8500

64. Simplified value of sgT T i
(A) 984762
(B) 984763
(© 0
D) 1

T u R

65. Lateral surface area of a right circular cone
is three times the volume of that cone. If the height
and the radius of the cone are % unit and r unit

respectively, then —1—+—;5 is equal to

2
(A) 1
(B) 3
{C) 9
1
(D) )

66. Ranjan sold his bag to Joydip at a gain of
8% and Joydip sold it to Raju at a gain of 10%.
If Raju paid Rs. 297 for it, the price paid by
Ranjan is

(A) Rs.250
(B) Rs. 260
(C) Rs.270
(D) Rs. 280

67. Ramand Shyamsolve aquadratic equation.
Ram makes a mistake in the constant term and
finds the roots as 5, 3. Shyam makes a mistake in
the co-efficient of x gets the roots as 1, -3. The
correct roots are

(A) 1,3

®) -1,3
08 of,u8
D) 1,-1

68. A right circular cone, a right circular
cylinder and a hemisphere, all have the same
radius and the heights of cone and cylinder equal
their diameters. Then their volumes are
proportional respectively to

(Ay2:1:3
(B) 1:3:1
(C) 1:2:3
(D) 3:211

0 1 WA R T o B ISP e S e S e
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69. In an examination, 34% of the candidates
fail in Bengali and 42% in English. If 20% fail in
Bengali and English, the percentage of those
passing in both subjects is

(A) 44
(B) 45
(C) 46
(D) 47

70, Baruninvests Rs. 5000forayearand Tarun
joins him with Rs. 8000 after six months. After the
yeartheyreceive areturn of Rs. 4500, then Tarun’s
share is

(A) Rs. 2000
(B) Rs. 2500
(C) Rs.2200
(D) None of the above

ABC(C)-10/20

74, If 2x* + 5y% + 22 — 2xy — 6yz = 0, then
X VigIs

(A) 1:2:3

5:e B B

(C) 2:3:4

D) 3:2:4

75. If 3 sin ¢ + 5 cos a = §, then the value of
(3 cos o.— 5 sin a)? is equal to
A9
(B) 25
9
© 3
(D) None of the above

76. The current population of atownis 120000.
If the population increases by 10% every year,

then the population of the town after three years

71. A hemispherical bowl is made of steel | Will P

sheet 0.8 cm thick. The inside radius of the bowl (A) 125550
is 5 em. Volume of steel used in making it is (B) 162900
(A) 146 cm® (C) 134650 i
(B) 1449 cm® (D) 159720 ?
(C) 146.9 cm® :
a f
(D) 148.6 cm’ 77. AABCis atriangle whose ZC=90°If pis
the length of the perpendicular from Cto AB, then
72. The mean of five observations x, x + 2, _1?1._15=
x+6,x+4, x+8is 11. The mean of last three BCT AC
observations is (A) p? |
e ®) 2p° |
(B) 9.33 | !
©) 13 & 2 i
(D) 9.66 2
(D) 3
73. While preparing mixture of tea, 5% tea is
lost. In what ratio a trader should mix two kinds of
tea costing Rs. 600/kg and Rs. 450/kg respectively 78. If w;="—, ¥fiy;=20 and Xf;=100 then

so that he might gain 25% on selling the mixed tea

at Rs. 625/kg? the value of X (mcan) is

(A) 3:5 (A) 10
(B) 4:5 (B) 25
© 5:2 (©) 20 |
D) 1:5 ®) 27 [
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79. Rajuinvested Rs. 15,000 in two parts. One
part on 8% and other at 12% per annum. His
annual income is Rs 1640. Ratio of the two parts
respectively

(A) 3:7
(B) 5:9
(C) 4:11
> 7:11

80. A pipe can fill a tank in 16 hours. Due to

a leak in the bottom, it’s filled in 24 hours. If the
tank is full, how much time will the leak take
to empty it?

(A) 36 hours -

(B) 42 hours

(C) 45 hours

(D) 48 hours

81. The greatest and the least value of
a+bsin0(0°<6<90% are 7 and 3 respectwely
The value of @ and b are

(A) a=2,b=5
(B) a=3,b=4
(C) a=0,b=7
(D) a=3,b=7

82. The areas of two similar triangles are
365sq.cm and 81 sq.cmrespectively. If the median
of smaller triangle is 12 cm then the corresponding
median of the larger triangle is

(A) 12 cm
(B) 18 cm
(C) 24cm
(D) 10 cm

83. Rs. 6000 is divided among 40 boys and
some girls so that each boy gets Rs, 100 and each
girl gets Rs. 250, then the number of girls is

(A) 20
(B) 15
©) 8
(D) 9

C-10

(:d

A

84. In the given figure, (not drawn to scale)
AABC is a right angled triangle, ZB = 90°,
§B=6cmandBC= 8 cm, the value of ris

(A) 1cm
(B) 2cm

' (C) 2.5¢m
(D) 3em

85. Out of 15 cows one worth Rs. 1800 was
removed and a horse was taken in. If their average
price is thereby increased by Rs. 300, then the
price of the horse is

(A) Rs. 6000
(B) Rs. 6300
(C) Rs. 3600
(D) None of the above

Fl

86. A number is increased by 10% and then
decreased by 10%, then the number

' a4
(A) doesn’t change iﬁ_r'ﬁ_j{. K
(B) decreases by 1%
(C) increases by 1%
(D} None of the above

87. In a joint business, ratio of the capitals of

three friends was %:,’]‘% . After 4 months the first
friend withdrew half of his capital and 8 months
thereafter Rs. 2024 was recorded as their total
profit. What was the share of profit of the first
friend?

(A) Rs. 542

(B) Rs. 672

(C) Rs. 736

(D) Rs. 816

88. The simple interest and compound interest
of a certain sum of money for two years are
Rs. 400 and Rs. 410 respectively. Then the rate of
interest per annum is

(A) 5%
B) 6%
(C) 5.5%
D) 6.5%

For guidance of WBCS Prelims , Main Exam and Interview by WBCS Gr A

Officers/ Toppers, WBCS Prelims and Main Mock Test (Classroom & Online), Optional |
Subjects, Studymaterials, Correspondence Course etc.Call WBCSMadeEasy™ at Toll Freg
HeIp Line no 1800 572 9282 or 9674493673 or 8274048710 or mail us at '

mailus@wbcsmadeeasy.in



PC 2
Typewritten Text
For guidance of WBCS Prelims , Main Exam and Interview by WBCS Gr A
Officers/ Toppers, WBCS Prelims and Main Mock Test (Classroom & Online), Optional
Subjects, Studymaterials, Correspondence Course etc.Call WBCSMadeEasy™ at Toll Free
Help Line no 1800 572 9282 or 9674493673 or 8274048710 or mail us at
mailus@wbcsmadeeasy.in


89. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are intheratio 8 : 5, the ratio of radius
to the height is

(A) 3:5
B) 3:4
(C) 4:5
By 251

9. If x=_—_\"f§+2+ \“js__z_,h_z‘/f, then
\N§+1
x equals to

(A) 2v2-1
®) 1

91. A person walks from his house at a speed of
< km/hour and reaches his school 5 minutes late.
If his speed has been 5 km/ hour he would have
reached 10 minutes earlier. The distance of the
schoel from his house is

(A) Skm
(B) 6km
(C) Tkm
(D) 8km

92. The ratio of syrup and water in 30 litre of a
mixture is I : 5, then the amount of water required
to mix to make the ratio 1 : 6 is

(A) 3 litres
(B) 4 litres
(C) 5 litres
(D) 6 litres

A Ay e e T g

C-11 ABC(C)-10/20

93. A man buys two types of oranges equal in
number one at 5 for a rupee and the other at 3 for

. arupee and sells the whole at 6 for Rs. 2, then his

gain or loss per cent is
(A) 25% gain
(B) 20% loss
(C) 10% gain
(D) 25% loss

94. The lengths of two parallel chords of a
circle are 6 cm and 8 ¢cm. If the smaller chord is at
distance 4 cm from the centre, then the distance of
the other chord from the centre is

(A) Scm
(B) 4cm
(@) 3cm
(D) 2cm

95. Average age of 8 sons of a family is 12
years. Average age of the sons together with their
parents is 21 years. If the father is older than the
mother by 8 years, then the age of the mother is

(A) 48 years
(B) 53 years
(C) 60 years
(D) 62 years

96. An article is sold at Rs. 972, then profit is
8%. If it is sold at Rs. 872, then there is a loss of

(A) Rs.28
(B) Rs.25
(C) Rs. 20
(D) Rs. 15
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97. The age of father today is thrice as that of
his son. After 15 years, the age of the father will be
twice that of his son. The age of the son today is

(A) 12 years
(B) 15 years
(C) 18 years
(D) 24 years

98. In Zn examination 75% passed in Maths,
80% passedin Bengali, 65% inboth and 45 students
failed in both subjects. Then the number of studenls
appeared are

(A) 400
(B) 500
(C) 600
(D) None of the above

99. The radius of a solid sphere is R c¢m. It is
bisected, then the total surface area of the two
pieces obtained is,

(A) 57R*sg.cm
(B) 47R? sq.cm
(C) 6nR%sq.cm
(D) 37R?sq.cm

C-12

100. In the figure (not drawn to scale), a circle
touches the side BCof AABC at P and sides AB and
ACproduced at Q and Rrespectively. T AQ=10cm,

then the perimeter of AABC is
(A) 10 cm G B
B) 20em 4 (’ﬂ 0
(C) 5cm % )
(D) 25 cm 5

101. A box contains 15 marbles out of which 4
are white, 5 are red and 6 are blue. Three balls are
to be drawn at random from the bag. What is the
probability that all of them are red?

(A) 1122
(B) 2/89
©) 277
D) 2/91

102. A sum of Rs. 312 was divided among 100
boys and girls in such a way that each boy gets
Rs. 3.60 and each girl Rs. 2.40. The number of girls
is )

(A) 40
(B) 45
(C) 35
(D) 30
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103. Out of the two bar graphs provided below, Direction: Suppose the day after tomorrow is
one shows the amount (in Lakh Rs.) invested by a NOT Saturday

Company in purchasing raw materials over the 105. Which of the following day CANNOT be
years and the other shows the values (in Lakh Rs.) the day after yesterday?

of finished goods sold by the Company over the (A) Thursday
LS B) Monda
Amount invested in Raw Materials (Rs. in Lakhs) ( v
4 (C) Tuesday
e (D) Wednesday
- 450
=2 %0 106. Out of the two bar graphs provided below,
- one shows the amount (in Lakh Rs.) invested by a
ey Company in purchasing raw materials over the
years and the other shows the values (in Lakh Rs.)
0 of finished goods sold by the Company over the
1555 1955 1987 15958 1993 2000
Yeass years.
Value of Sales of Finished Goods (Rs. in Lakhs) Amount invested in Raw Materials
o0 ) (Rs. in Lakhs)
&00 £00 3 450
2 500 a50 g
E 400 g 00
= 400 3
& 300 P
200 150 o
200 1
0 B 3 : 3 : r
1985 1596 1997 1998 1998 2000 F
] Years
i T e Value of sales of Finished Goods (Rs. in Lakhs) .
e 300 |
The maximum difference between the amount i’
invested in raw materials and value of sales of & o
finished goods was during the year N2 3 ! ,
(A) 1995 “ ,‘
(B) 1996 200 !
(©) 1997 . ;
(D) 1998 i
What was the difference between the
104. Three cubes of edges 6 cm, 8 cmand 10 cm average amount invested in Raw materials during
are melted without loss of metal into a single cube. the given period and the average value of sales of
The edge of the new cube will be: finished goods during this period? '
(A) 16cm (A) Rs. 62.5 lakhs
(B) 14 cm (B) Rs. 68.5 lakhs |
©) 12¢m (C) Rs. 71.5lakhs |
(D) 8 cm (D) Rs. 77.5 lakhs '
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107. Ankit is the son of Zubin. Manju is the
daughter of Anil. Sheela is the mother of Manju.
Mohan is the brother of Manju. How is Mohan
related to Sheela?

(A) Brother
(B) Father
(C) Son

(D) Cannot be determined o

108. How many 3-letter words with or without
meaning, can be formed out of the letters of the
‘word ‘LOGARITHMS’, if repetition of letters is
not allowed?

(A) 720
(B) 420
(C) 5040
(D) 256

pesi]

109. From a group of 7 men and 6 women, five
persons are to be selected to form a committee so
that at least 3 men are there in the commitiee. In
how many ways can it be done?

(A) 624
(B) 209
©) 756
(D) 212

110. Simplify : log,3 log,,,64
(A) 3/5
(B) 2/5 '
{ (C) 3/4
D) 173

111. The following chart shows the age
distribution of overseas tourist from India.

Age Distribution of Overseas Tourist Traffic
from India.

30-39 years 15%

Which of the following statements is not TRUE?

(A) Elderly people are mostlikely to travel
overseas.

(B) Elderly people areleastlikelytotravel
overseas. )

(C) Youngerpeoplearelesslikely totravel
OVErseas.

(D) One fifth of the overseas tourist from
India is middle aged (i.e. aged 40-49
years)

112. How long will a boy take to run round a
square field of side 35 meters, if he runs at the rate
of 9 km/hr?

(A) 40 sec
{(B) 50 sec
(&) 56 sec
(D) 34 sec
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113. The following line graph gives the ratio of
the amounts of imports by a company to the
amount of exports from that company over the
period from 1995 to 2001.

Ratio of Value of Imports to Exports by a
Company Over the Years.

C-15

ABC(C)-10/20

Direction: Study the following alphabetical
sequence and answer the question based on it.
GAGHUTAAKHGAOYYDKKVRABICDDC
REFAHAHAIH

116. How many vowels are there in the above
series which are immediately preceded by a

16 = 0
f'i = A /71— consonant’
= = (A) 6
11
] e — e ®) 7
ad =y {
g‘; R \.\ If © 8
a8 N B i D) 9
04 N
03 i3
02
01 + . : — .

1935 1986 1897 1838 1989 2000 2001

Years

If the imports in 1998 was Rs. 250 crores
and the total exports in the years 1998 and 1999
together was Rs.500 crores, then the imports in

1999 was

;« g0
(A) Rs. 250 crores : Iﬁg_—.__?f_';
(B) Rs. 300 crores € T *
(C) Rs. 357 crores - 900°.
(D) Rs. 420 crores e @4 =300
e o REngSy ) ] . ) 1
TG 117. The following line graph gives the ratio of ?
. &

Direction: Suppose the day after tomorrow is
NOT Saturday .

114. Which of the following day CANNOT be
the day before yesterday?

the amounts of imports by a company to the
amount of exports from that company over the
period from 1995 to 2001.
Ratio of Value of Imports to Exports by a
Company Over the Years.

16

(A) Sunday - g i 1;;{_
L . ".?_5 i
(B) Monday o M -,/\\ . |
A 11
(C) Tuesday " s I/’f Sl |
(D) Wednesday il S 7 '
[EA-A N, /.
05 ¢ -
e X
03 Y035
01 : . - : .
115. Inacertaincode language PREMONITION il o Sl

being coded as 68530492901, you will write
MONITOR as;

(A) 3059205

The imports were minimum proportionate
to the exports of the company in the year

(A) 1995 g AF AS
(C) 3049203 (C) 1997
(D) 3049208 (D) 2000
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118, A reduction of 20% in the price of
strawberries enables a person to purchase 12 more
for Rs. 15. What was the price of 16 strawberries
before reduction of price?

(A) Rs. 6

(B) Rs.5 @ﬁ

(C) Rs.7
(D) Rs. 9

Direction: Study the following alphabetical
sequence and answer the question based on it.
GAGHUTAAKHGAOYYDKKVRABICDDC
RFFAHAHAIH
119. If we write the letters of the above seriesin

the reverse order which letter is the middlemost?

(A) K

BV

O R

(D) A

120. A shopkeeper gives two successive
discounts of 20% and 10% on surplus stock.
Further, he also gives 5% extra discount on cash
payment. If a person buys a shirt from the surplus
stock and pays in cash, what overall discount
percent will he get on the shirt?

(A) 60%
(B) 5.67%
(C) 31.6%
(D) 2%

121. In acertain code language
1 2 3 means ‘sober nice lady’
3 5 6 means ‘nice sunny day’
5 8 9 means ‘arainy day’
Which of the following numeral stands for
‘sunny’?
(A) 3
B) 5
)6
D) 9

Direction: Suppose the following words
Man, Men, Machine, Method, Methodical, Make,
Mentor, Map
are arranged according to dictionary rule.
122. Which of them will be at the start?
(A) Man
(B) Map
(C) Make
(D) Machine

123, The unit’s digit present in the product
274 x 318 x 577 x 313 is

(A) 2
®) 3
(€ 4
D) 5

124, If Pamela ranks seventeenth in a class of
thirty-one, what is her rank from the last?
(A) 12
(B) 14
(C) 15
(D) 16

125. Thedifference between a two-digit number
and the number obtained by interchanging the
positions of its digits is 36. What is the difference
between the two digits of that numbex?

(A) 3
(B) 4
© 9
(D) Cannot be determined
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Direction: Monica, Amar, Akbar and Anthony
live inthe four apartments that are arranged side by
side. Only one of the above four persons is the
landlord whose apartmentis at the one end. Amar’s
apartment is neither next to Mopica’s apartment
nornextto Akbar’s apartment. Monica’s apartment
is not at one end. Amar is not the landlord.

126. Who lives just beside the landlord?
(A) Monica
(B) Amar
(C) Akbar
(D) Anthony

127. Study the following table and answer the
question based on it:
Number of Candidates Appeared, Qualified and
Selected in a Competitive Examination from
Five States Delhi, H.P, U.P, Punjab and
Haryana Over the Years 1994 to 1998
Delhi H.F. UP. Punjab Haryana
App-fQual.| Sel | App. [Qual. |Sel | App. (Qual, | Sel | App. jQualiSel |App. |Qual.[Sel
1937|8000] 850 | 94 | 7800 810 |82 | 7500|720 | 78 4 8200 | 680 | 850{6400| 700 | 75
1298|4800] 500 | 48 | 7500 600 |65 | 5600|620 | 85 | 6800|600 | 70 (7100 850 |75
1939|?5m 840 | 82 | 7400| 560 | 70 | 4800|400 |48 | 6500|526 65 |5200| 350 |55

20003500 850 | s0 |eaco] e20 |86 [7000]eso |70 | 7800] 720 24 Jseno| 540 |60
2001|s000] 800 | 70 [ 7200] 850 [75 |#500] <50 | &0 | 5700] 485 | 60 [4300] 600 | 75

Year

Inthe year 1997, which state had the lowest
percentage of candidates selected over the
candidates appeared?

(A) Delhi
(B) H.P.
(C) UP.
(D) Punjab

C-17 ABC(C)-10/20

128, What is the number of triangles in the
following figure?

129. Which number will occupy the blank space?

T [ 9%
7 6

4 #°49
3 | %

130. A whole I}!Umber n which when divided by
4 gives 3 as remainder. What will be the remainder
when 2r is divided by 4?

(A) O
B) 1
© 4
(D) 2

131. A man can row upstream at 8 kmph and
downstream at 13 kmph. The speed of the stream
is

(A) 2.5 kmph
(B) 4.2 kmph
(C) 5kmph

(D) 10.5 kmph
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132. What fraction of an hour is a second?
(A) 1/24
(B) 1/60
(C) 1/120
(D) 1/3600

133. The bar graph given below shows the sales
of books (in thousand number) from six branches
of a publishing company during two consecutive
years 2000 and 2001.

Sales of Books (in thousand numbers) from

Six Branches- B1, B2, B3, B4, B5 and B6 of

a publishing company in 2000 and 2001.

120
110

Sales (in thousand numbers
£=1 L= B = R = = = R == |
' = T S A

=
5B
T

=]

m 2001

Branches u 2000

What is the ratio of the total sales of branch B2 for
both years to the total sales of branch B4 for both
years?

(A) 2:3

(B) 3:5

(C) 4:5

™ 7:9

C-18

134, Consider the following three statements by
Amar, Akbar and Anthony.

Amar: “Anthony is a good boy.” Akbar: “Amaris
a liar.” Anthony : “T am not a good boy.”

You know that at least two of them are telling the ;
truth. Who is/are telling the truth? i

(A) Only Amar

(B) Amar and Akbar
(C) Akbar and Anthony
(D) All of them

135. If words : language then line :
(A) mathematics
(B) figure
(C) algebra
(D) geometry

136. The digit in unit’s place of the product
81 x82x..x891is

(A) O
(B) 2
© 6
(D) 8

137. All fish can swim. No fish can walk. So
nothing that can walk, swims
(A) Inference is true
(B) Inference is false
(C) Inference is probably true
(D) Inference is probably false
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138. Mr. and Mrs. Basu live in a house only with
their children. They have three sons and each of
the sons has exactly one sister. How many persons
live in that house?

(A) 6
B) 7
©) 8
(D) 9

139. If the current ratio of the father’s age to the
son’s age is 4 : 1 and the produet is 256, what will
be the ratio of ages after 5 years?

(A) 37:13
(B) 38:12
() 3515
(D) 50:1

140. A tap canfill abucket in 6 hours, After half
the bucket is filled, three more similar taps are
opened. What is the total time taken to fill the
bucket completely?

(A) 3 hrs 15 mins
(B) 3 hrs 45 mins
(C) 4 hrs 25 mins
(D) 4 hrs 15 mins

141. If  f(x) =3:w where ¢=x0, then
of (x) +%f(x) -% will be
1
@ x & S EE
®) -
O x
(D) —x

C-19
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142. The average weight of 8 persons increases
by 2.5kg when anew person comes in place of one
of them weighing 65kg. What might be the weight
of the new person?

(A) 76kg

B) Skg

(C) 85kg

(D) None of the above

143. A person travels 3.5 km from place A to
place B. Out of this distance, he travels 5/3 km on
bicycle, 7/6 km on scooter and the rest on foot.
What portion of the whole distance does he cover

on foot? T
(A) 3/19 .
(B) 4/11 f
(C) 521 " 4
(D) 5/6 %

~a

Direction: Monica, Amar, Akbar and Anthony
livein the four apartments thatare arranged side by
side. Only one of the above four persons is the
landlord whose apartmentis at the one end. Amar’s
apartment is neither next to Monica’s apartment :.
nornextto Akbar’s apartment. Monica’s apartment i
is not at one end. Amar is not the landlord, |

144. Who is the landlord?
(A) Monica
(B) Amar
(C) Akbar
(D) Anthony
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145, Qut of the two bar graphs provided below,
one shows the amount (in Lakh Rs.) invested by a
Company in purchasing raw materials over the

C-20

146. Study the following table and answer the
question based on it:

Number of Candidates Appeared, Qualified and

years and the other shows the values (in Lakh Rs.)
of finished goods sold by the Company over the

Selected in a Competitive Examination from
Five States Delhi, H.P, U.P, Punjab and

yedrs. Haryana Over the Years
Amount invested in Raw Materials (Rs. in Lakhs) g Dehi me. 1 b | pmab [ vayane |
500 2 o vl S2i | App, ua@ App. iGual, | Sel | App. [QuallSal |App, Qual.lSsi
525 1927{3000] &5 | 94 |7800[ 820 |82 |7500] 720 |76 | 2200 | a0 |85 feenn] 700 |78
1088}4s00f 500 | 28 [ 7500] 820 | &5 | s600] 620 | a5 | sson] 600 |70 [7100] es0 |7
z i tag3]7500| 640 | 82 | 7400] 550 | 0 |4800 ] 400 | 45 | ss00] 525 65 [s000] 350 |55
= 2000]gs00] 850 | 20 [ 8s00] 520 |85 | 7000 ] 850 | 70 | 7800] 720 |4 [sa00] 540 |0
& 300 | 2001/5000{ 800 | 70 [ 7200 850 [75 [#s00] 850 [ 80 | s700] 485 {60 jasoo] oo [75
& ‘
- For which state the average number of
candidates selected overthe years is the maximum?
B & ; - (A) Delhi
1085 1996 1997 1998 19%9 200
Years (B) H.P.
Value of Sales of Finished Goods (Rs. in Lakhs) (C) UP
200 .
!— (D) Punjab
! 500

m
=]
(=]

Rs. in Lakhs
&
{=]

8

147. Raju, RamuandRazicando apiece of work
in 20, 30 and 60 days respectively depending on

1995 1886 187 1998 1988 2000 their capacity of deing work. If Raju is assisted by
Years Ramu and Razi on every third day, then in how

The value of sales of finished goods in 1999 was iy days Baji-will complete the wosks
approximately what percent of the sum of amount {A) 12 days
invested in Raw materials in the years 1997, 1998 (B) 15 days
and 19997 {C) 16 days

(A) 33% (D) 18 days

(B) 37%

(©) 45%

(D) 49%

148. At12 pm both hands of a wall clock, placed
normally on the wall, point to the South. In which
direction the hour hand will point at 9 am?

(A) East
(B) West
(C) South
(D) North
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C-21 ABC(C)-10/20

149. Study the following table and answer the 151. Study the following table and answer the
question: question based on it:
Number of Candidates Appeared and Qualified in a Number of Candidates Appeared, Qualified and
Competitive Examination from Different States Selected in a Competitive Examination from
Over the Years. Five States Delhi, H.P, U.P, Punjab and
Year Haryana Over the Years 1994 to 1998
Statd 1997 1998 1999 2000 2001 I Delhi HP. UP. Punjab Haryana
App. [Qual| App. | Qual,| App.|Qual.| App.|Qual. [App.|Qual. s J\PP-FJW'--SGL App. auallsel App. [Qual.| Sel. | App.Qual. Sel. |App. Qual.|Sel.
M [5200| 720 | 8500 980 | 7400 830 | &800| 775 |9s00]1125 1997 3000{850 94 | 7800|810 82 | 7500|720 | 78 | 20| BB |65 {6400| TOO| TH
N [7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200] 980 /8800|1020 1068(4800} 500 | 48 | 7500 800 | 63 |5600(620 | 85 5360 80070 |7100| 650 | 75
P_ 6400 780 | 8300 ] 1020 | 7300 890 [ 8750] 1010 [9750]1250 1959{7500] 640 | 82 | 7400 580 | 70 [4800] 400 | 48 | ss0c] 52565 [5200] 350 [ 55
Q 8100 950 | 9500 | 1240 | 8700| 980 | 9700 1200 |8950| 995 2oun|95uo 850 | 90 (8800920 | 86 | 7000|850 | 70 | 7800] 720|84 (6400 540 60
R 7800 870 | 7600 | 940 | 9800 | 1350 | 7600| 945 |7990| 885 2001]900¢] 800 | 70 | 7200] 850 75 [eso0 ss0 | 0 | 5700] 46560 J4s00] G00 ] 75
Totalompsber of_ca?ggiat?ja quahﬁz?d from The percentage of candidates qualified from
all the states together in 1997 is approximately Punjab over those appeared from Punjab is highest
what percentage of the total number of candidates in the year . ene
quelified from all the states together in 1998?
(A) 1997
(A) 72% (B) 1998
() 77% (C) 1999
(C) 80% D) 2000
(D) 83%
152, What is the smallest number which when !
decreased by 8 is divisible by 21, 27, 33 and 552
(A) 1490
(B) 10405
(C) 15490
(D) None of the above
(8=
¢
150. ____ vegetable:; wheat 153. If (@, &) % (¢, d) = (a + d) - ; then
Which one of the following is the correct S, 2.3 2y
. 5 6'7)%|73) willbe
pair?
(A) plant, cake (A) 1 .
(B) barley, flour B) 0
(C) cabbage, corn ) 7
(D) leaves, rice D) 2
Please Turn Over

For guidance of WBCS Prelims , Main Exam and Interview by WBCS Gr A

Officers/ Toppers, WBCS Prelims and Main Mock Test (Classroom & Online), Optional
Subjects, Studymaterials, Correspondence Course etc.Call WBCSMadeEasy™ at Toll Free
~-Help-Line-no-1800-572-9282 or 96+44936+3-05-82/4048710-or-mailusat -
mailus@wbcsmadeeasy.in

g


PC 2
Typewritten Text
For guidance of WBCS Prelims , Main Exam and Interview by WBCS Gr A
Officers/ Toppers, WBCS Prelims and Main Mock Test (Classroom & Online), Optional
Subjects, Studymaterials, Correspondence Course etc.Call WBCSMadeEasy™ at Toll Free
Help Line no 1800 572 9282 or 9674493673 or 8274048710 or mail us at
mailus@wbcsmadeeasy.in


ABC(C)-10/20 C-22

Direction: Study the following alphabetical 157. Suppose milk is sold at the rates of 5.50,
sequence and answer the question based on it. 6.00,5.75 and 5.25 rupees per litre in four different

GAGHUTAAKHGAQYYDKKVRABICDDC months. Assuming that equal arnount of money

RFFAHAHATH are spent on milk by a family in the four months,
154: T.‘he-s.u-m of the number of consonants and the average price in rupees per litre will be
the number of vowels in the above series is (A) 5.61
(A) 35 (B) 5.62
(B) 36 (C) 5.63
(C) 37 (D) 5.64
(D) 38

155. The difference between a two-digit number

and the number obtained by interchanging the digits
is 36. What is the difference between the sum and
the difference of the digits of the number if the ratio
between the digits of the numberis 1 : 27

158. The ratio of the no. of white balls in a bag
to that of black balls is 1 : 2. If 9 grey balls are
added the ratio of nos. of white, black and grey
becomes 2 : 4 : 3. How many black balls were in

(A) 4 e bag?

B) 8 (A) 6

©) 16 (B) 9

(D) None of the above (C) 12
(D) 8

Direction: Study the following alphabetical
sequence and answer the question based on it,
GAGHUTAAKHGAOYYDKKVRABICDDC
RFFAHAHAIH 159. In one hour, a boat goes 11 km along the

156. The number of vowels that are absentin the stream and 5 km against the stream. The speed of
above series 1is the boat in still water (in km/hr) is

(A) 0 (A) 3
(B) 1 (B) 5
© 2 ) 8
(D) 3 (D) 9
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160. If the given interchanges namely : signs +
and + and numbers 6 and 3 are made in signs and
numbers, which one of the following fourequations

would be correct?
(A) 6+3+3=3
B)3+6+2=5
(C) 3+6+4=6
D) 6+3+5=7

161. How many numbers between 400 and 600
begin with or end with the digit 5?

(A) 40
(B) 100
(C) 110
(D) 120

162. A boatman goes 2 km against the current of
the stream in 1 hour and goes 1 km along the
carrent in 10 minutes. How long will it take to go
5 km in stationary water? .

(A) 40 mins

(B) 1 hour

(C) 1 hr 15 mins
(D) 1 hr 30 mins

!
;

C-23 ABC(C)-10/20

163. Study the following data carefully and
answer the following:

Number of Candidates Appeared and Qualified
in a Competitive Examination from Different

States Over the Years.
Year

State 1997 1998 1999 2000 200

App.|Qual| App.| Qual.] App.|Qual.| App.|Qual.| App.|Qual.
M 152001 720 | 85000 980 | 7400| 850 | 6800| 775 |9500(1125
N [ 7500) 840 | 9200| 1050 | 8450 920 | 9200] 980 |8800{ 1020
P | 6400 _780 B800] 1020) 7800| B30 ) 8750 1010 [9750) 1250
Q |8100} 950 | 9500| 1240| BT00| 980 | 9700| 1200 | 8950| 995
R |7800| 870 [ 7600 | 940 | 9800| 1350 | 7600] 945 |7990] 885

In which of the given years the number of
candidates appeared from State P has maximum
percentage of qualified candidates?

(A) 1997
(B) 1998
(©) 1999
(D) 2001

164. Soldiers serve their country. There are four
references, Choose the correct one.

(A) Those who serve their country are
soldiers.

(B) Women do not serve their country as
they are not soldiers.

(C) Men generally serve their country.

(D) Some men who are soldiers serve
their country.
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165. The following pie-charts show the
distribution of students of graduate and post-
graduate levels in seven different institutes in a
town.

Distribution of students at graduate and
post-graduate levels in seven institutes:

Direction: Monica, Amar, Akbar and Anthony
live in the four apartments that are arranged side by
side. Only one of the above four persons is the
landlord whose apartmentisat the one end. Amar’s
apartment is neither next to Monica’s apartrment
nornextto Akbar’s apartment. Monica’s apartment

is not at one end. Amar is not the landlord.
166. Monica lives
(A) at one extreme end.
(B) between Akbar and Amar.
(C) between Akbar and Anthony.
(D) between Amar and Anthony.

Total number of Students of
Graduate Level = 27300

Total number of IStudents of
Post-Graduate Level = 24700

167. Three times the first of three consecutive
odd integers is 3 more than twice the third. The
third integer is

(A) 9

(B) 11
(C) 13
D) 15

What is the ratio between the number of students
studying at post-graduate and graduate levels
respectively from institute 8?

(A) 14:19
(B) 19:21
(©) 17:21
(D) 19: 14

168. A two-digit number is such that the product
3 of the digits is 8. When 18 is added to the number,
then the digits are reversed. The number is

(A) 18
(B) 24
(C) 42
(D) 81
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169. The following pie-chart gives the
distribution of the overseas tourist traffic from

c-25 ABC(C)-10/20

171. The following pie-charts show the
distribution of students of graduate and post-

India. graduate levels in seven different institutes in a
towrL.

Distribution of students at graduate and
post-graduate levels in seven institutes:
Total number of Students of
Graduate Level = 27300

What percentage of Indian tourist went to either
USA or UK?

(A) 40%
B) 50%
(©) 60%
(D) 70%

Total number of Students of
Post-Graduate Level = 24700

What is the total number of graduate and poE't—:
graduate level students in institute R?

(A) 8320

(B) 7916

(C) 9116

(D) 8099

170. If one-third of one-fourth of anumberis 15,
then three-tenth of that number is

(A) 35
(B) 36
(C) 45
(D) 34
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172. Which of the following words can be
formed using only the letters of the word
“PSCEXAMINATION"? (When framing a word
you can use any letter at most the number of time/
times it appears in the above word.)

(4) SCIENCE

(B) MOTHER

(C) MSCEXAMINATION
(D) STEPIN

173.. If the letters in the word “PSCEXAM”
are rearranged according to the reverse Enghsh
alphabetical order, how many letter(s) will remain
in the same position after the rearrangement?

4) 0 A
(B) 1
© 2
(D) 3

174. If all the Iletters of the word
RATIONALISATION are written according to
the alphabetlcal order, which letter will be farthest

from the first letter? =

(A) T
B) L
(©) R
(D) N

175. The following pie-chart shows the
percentage distribution of the expenditure incurred
in publishing a book. Study the pie-chart and the
answer the questions based on it.

Various Expenditures (in percentage)
Incurred in Publishing a Book

Promotion

cost _\\

10%

Royalty
15%

Transportation

Paper cost .-":

If for a certain quantity of books, the publisher has
to pay Rs. 30,600 as printing cost, then what will be
the amount of royalty to be paid for these books?

(A) Rs. 19,450
(B) Rs. 21,200
(©) Rs. 22,930
(D) Rs. 26,150

176. If"p ,=n (n-1) (n-2) ... (n—r)and "p 4= 24,
then the value of n will be
(A) 5
(B) 4
© 2
D) 3

177. At 3 pm the minute hand of a wall clock,
placed normally on the wall, points to the West. In
which direction the hour hand will point at 9 am?

(A) East
(B) West
(C) South
(D) North
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178. Acarisrunning firstSkilometersataspeed
of 40 km./hr., next 20 kilometers at 60 km./hr. and
then another 30 kilometers at 50 km./hr. speed.
Then the average speed of the car is

(A) 5197 km./hr.
(B) 50 km./hr.
(C) 523 km./hr.
(D) 50-6 km./hr.

-

179. When a number is added to seven-ninth of

thirty-five per cent of 900, the resultant is 325.
What is the number?

(A) 81
(B) 80
(C) 95
(D) 60

180. If one-third of a tank hold 80 litres of water,

then the quantity of water thathalf of the tank holds
is

(A) 8073 litre
(B) 100 litre
(C) 120 litre
(D) 240 litre

C-27 ARC(C)-106/20

181. Sanketearns twice as much in the month of
March as in each of the other months of the year,

‘What part of his entire annual earnings was earned
in March?

(A) 177
(B) 1/6
(©) 211
(D) 2/13

182. A problemis given to three students whose
chances of solving it are 1/2, 1/3 and 1/4

respectively. What is the probability that the
problem will be solved?

(A) 1/4
(B) 112
(© 3/4
(D) 7712

183. Games, cricketandfootballrepresentwhich —
of the following figures?

@

®
©
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184. What fraction of 4/7 must be added to itself 187. The bar graph given below shows the sales
to make the sum 15/14? of books (in thousand number) from six branches

(A) 112 ' of a publishing company during two consecutive
(B) 4/7 years 2000 and 2001.
© 7/8 Sales of Books (in thousand numbers) from

Six Branches- B1, B2, B3, B4, BS and B6 of

(D) 15/14 a publishing company in 2000 and 2001.

pids]
110 4

-

ers
£
8

.

90 -
80 -
70 -
60
50 =
40
30 -
20 -
10 =
0=

Sales {in thousand numb:

Branches B 2000 i 2001

185. If the average of a, b, ¢ is 15, the average of

b, ¢, dis 12 and the average of a, d is 13, the value Total sales of branch B6 for both the years is what .

percent of the total sales of branches B3 for both

of dis
(A) 34 the years?
B 30 (A) 68.54%
©) 24 (B) 71.11%
(D) 10 (C) 73.17%
(D) 75.55%

Direction: Monica, Amar, Akbar and Anthony
live in the four apartments that are arranged side by
side. Only one of the above four persons is the
landlord whose apartment is at the one end. Amar’s

186. If the letters in the word “PSCEXAM” are apartment is neither next to Monica’s apartment
rearranged according to the English alphabetical nornextto Akbar’s apartment. Monica’s apartment

order, how many letter(s) will remain in the same | 1S not at one end. Amar is not the landlord.
position after the rearrangement? 188. Amar lives
(A) O (A) at one extreme end.
(B) 1 (B) between Akbar and Monica.
(C) 2 (C) between Akbar and Anthony.
(D) 3 (D) bétween Monica and Anthony.
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Direction: Study the following alphabetical 192. Jaya and Hima are competing in a 200

sequence and answer the guestion based on it. meterrace, Both start the race at the same time, but
GAGHUTAAKHGAOYYDKKVRABICDDC Jaya starts the race 40 meters ahead of the starting
REFAHAHATH ok point, whereas Hima starts the race at the starting
189. If we drop all the vowels from the above o SXSEIS Thit Sncwaun Az spent of 1
setieshich esiee will b Fethemnidilleaouiingy. | i o socodd, WhEeRRT A RIS Atk s Cel ot
) x meters per second. If both reach the finish line at

(A) K the same time, then what is the value of x?

B) V (A) & meters per second

© B (B) 10 meters per second

(D} R

(C) 6 meters per second
(D) 2 meters per second
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Direction: Suppose the following words

Man, Men, Machine, Method, Methodical, Make,
Mentor, Map

are arranged according to dictionary rule.
190. Which of them will be at the end?

(A) Men

(B) Method 193. Study the following table and answer the
(C) Methodical question:

(D) Mentor

Number of Candidates Appeared and Qualified in a
Competitive Examination from Different States

Over the Years.

Year
Statd 1997 1998 1999 2000 2001
App.|Qual! App.| Qual.| App.|Qual.| App.|Qual.|App./Qual,
M |5200] 720 | ss00| 980 | 7400] 850 | 6800| 775 |2500| 1125
N_|7500] 340 | 9200| 1030 | 8450| 920 | 9200| 980 |8800|1020
P |6400| 780 | 8800 1020| 7800 890 | §750{ 1010 |9750| 1250
w5 5 0 |8100| 950 | 9500 1240 8700| 980 | 9700] 1200|8950/ 995
1?1' When al?all ?JOHI]CCS, Mtises t? % of the R_|7800| 870 | 7600| 940 | 9800| 1350 7600| 945 |7990| 885
height from which it fell. If the ball is dropped ) _
from a height of 32 m, how high will it rise at the What is the average candidates who
third bounce? appeared from State Q during the given years?
(A) 13m (A) 8700
(B) 13.5m (B) 8760
(C) 145 m (C) 8990
(D) Nomne of the abovt (D) 8920
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194. A boat running downstream covers a
distance of 16 kmin 2 hours while for covering the
same distance upstream, it takes 4 hours. What is
the speed of the boat in still water?

(A) 4 kmph
(B) 6 kmph
(C) 8 kinph
(D) Data inadequate

195. A and B are at a distance of 800 m. They
start towards each other at 20 and 24 kmph. As
they start a bird sitting on the cap of A, starts flying
towards B, touches B and then returns towards
A and so on, till they meet. What is the distance
traveled by the bird, if its speed is 176 kmph?

(A) 3040 m
(B) 3200 m
(C) 3100m
(D) 2600 m

Direction: Study the following alphabetical
sequence and answer the question based on it.

GAGHUTAAKHGAOYYDKKVRABICDDC
RFFAHAHAIH

196. The difference between the number of
consonants and the number of vowels in the above
series is

(A) 10
®) 13
(© 17
(D) 25

197. If [45] = [4+0:5] = 4, then [~ 4-5] will be
(A) ~4
(B) 4
© 5
(D) -5

198. A manrows downstream 32 km and 14 km
upstream. If he takes 6 hoursto covereachdistance,
then the velocity (in kmph) of the current is

(A) 122
B) 1
(C) 372
(D) 2

199. The 5th term in the following series:
ab® + be? + cd” + .48+ to 25 terms will be
(A) de?
(B) ef.
© &
D) ¢

200. What is the number of digits in (3%)*?
(A) 4
(B) 5
(C) 6
D) 7
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